Iml

3 AE Al PR sR{E S b

HKIS

HRikEREAE

AELEAT TEZERT - CERAFTICRT B5AH <FZE Y,
BT I T EMEFICKBELTCESL,
BRAGEoRIFT, RUITREL TSN,

AEME, TERISRIEGMDAETIFRIEETY
AN—EEEAHRGOBEKXENELGHBEICE, BONMIBEVWEITORFEEIZTERS LS,

m oM & BHiEA Msaitfy b

F ® B EERNM

a3 — F N 14007-AN005

BT EREA & M E04280-N22010-00

A—h—HIE —v¥%y TJxTFLT« L (UA-Z33 - CBA-Z33)

T UK VQ35DE

: = 2002/07~2007/01

& % (Fl&nERR] Va2 UR

BET DEEExR
ETNo. Bt BB X E AR
3-3. 01 2016/3 2l

2016 £ 3 A 30 BR1T (REMES. BHMWTvF - 7—-ITX




B

DI/ AE - B DN T/ R LD EE e s 1

A e L 1 7 Y ~ R
o 2R 3

B T =)l a3 =X - 4...
2. A= T LR T AT oo 5.
B A I T A AT o e e 8..
A B D T oot 1.3.

EENE |
COEE. ERAMEBRILEEY FESEVEFVEEERIIHYANE S SEVET,

AEE L HH, BRLES A TR ERELT S,

B BT EFEEIKEL. MR TRRIABCRBSATOIRNEETYRRICCHEACESL,
REEIATHETHSTIBTHA. & <CERLES X THEEETE>TLESL,

BEgiE, BTAKOWRIE. BRTREENELHBERLTIEE,

AE - HMRBIZONT
@EFERIMAFERLEFY FEIT DU DB/HEALEZEMEL., ARSI TLETD,
IO oOEARLEIZE. KE - BHEOLR., HEDFRENFWVET,
IV VDHREHBFOR-OETHICEIZSRREOERESITOHLET,
OREFAXRERFZRLICETIT T IEE, HELPMDALADEROEEZTEZRAICHLET 51-0HIC
FOTWEELWVIESTEZRELTLET,
OAHRIEBEERMMATT . MIRUSR. BE. ARNOERITTEDLENTIIEZEL,
OLERXIE=ZEN . AR RUVHBERZEZMIRUSHE, &, AERNOFERICKYZITFHEEFIZTONTIE,
ZHE-UVEEZAVVDRFETOTHLMLEH I THELSIZELY,
OKRHERET/ —TIEARUHKSERZEZEE L TOWSIEAADOITITEZEEICHEIATLET,
J—IIVEBLUSMCEF -G8, ARRAORKEE - HRERVEREMEIZDOVTRIEWLNV-LIMRET,
OAHRIMERZEED. REDNE=OFELERT I ENHYFET,
OAKREF., FHEAUKBRTEZCEDNHYETOTARUGBEAREDESZ THERIZEL,

REEDEE

AETIE, FRAOKLSE

SZEHEAL. BEHEADBRLARILZERLTVES,

M\ EE ErERaEREs. REXEEEERSBANS S

EEVFEREN, BEEESBRAEE SN LB (AR)
AN EE sxmmossssEsnssa
(KB L 4. HHAEMAEE CHE S - MNBE (X FEHORBR UHEE))

-1- HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



IN—Y )Xk

EE p = e
1 RKBEBTa—TI)RUT 1
2 02T (Fa—INAY) 1
3 ARBETa—INA2PHE— 6
4 OV (Ta—INA2PTH5—) 6
5 Ta—TINSAVTETE— 1
6 Ta—TIIFAVTHE T2 —Type2 1
7 Ta1—TIILFAVTH T2 —Typeld 1
8 w7 3
9 =Ly — 3
10 OV (Ta—TINFAVTHETH—) 2
11 3xA DIaAvbIAT 1
12 BER—X 1
13 R—R91)y 7 (TS130) 6
14 S —kFa—7J 1
15 6 R—R 1
16 R—=R9)vF(¢6) 2
17 b6 afkisA4F 1
18 FoyTRILE M6 L=30 2
19 FoyFRILE M6 L=40 3
20 FovFRILE M6 L=60 1
21 7w r—M6 6
22 AT Tv v —M6 1
23 52T vk M6 3
24 BA4ZyTH 5
25 BAZyTIN 5
26 HikEREAE 1

-2 -

HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)




fr#%

- RBETJa—INRYT

247
H4A4 X

RS 111 mm
IRAONE 611

AV MEBESHBA AT
CERKE 38

(RAO~mHO)
HEANE @9

s mRES 114mm

1. MELHHEDEFRE MUESEZRIAEIHSILOTEHYEFLEA)
$AIE [kPa] 300 350 400 450 500
MHE 12 [V] 215 195 180 165 145
[2/h]
14 [V] 265 250 235 220 205

- KBETa2a—IIAMooTH B —

247 kv TT4—F
a4 )UK =R GEfE 14Q)
ES A M . 2-Jet
R—ILE 02 (T—13—)

1. REEEHEDOERF

(FHENEZREL LEHEET. RIATHETEHY FEA)

#AIE [kPa] 250 300 350 400
ntH= 730 800 860 920
[ec/min]
2. EREgIEE & EMEHNBREORERE REALEHLDE. EVESFERLEDLYET, )
BE [V] 8 10 12 14 16 18
4% 35 8 5 BF )
[ u sec] 4000 2500 1900 1500 1250 1100
(350kPa B%)

-3 -

HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



(. Bt HEEOER

BREMEICH - THERZTLH >TSS,
VA AR
OBMHRL TOXBMEELEEZRFICTSHEIE. KELIGAHT
MPDEEZHERL., 7T—PORTMNAERDIEELIE
(ZREMN1/8UL)IZHBGE (BE2 U FELIEEHS VA
LVRER) (. e8I (BREN 1/8 LT ICHAET
Ta—IILE VBB ERIR>TSZELY,
VA AR
-PBREE A VB RE A T 2 —TILR Y T Assy At IHE
FYLEIZHAH, LEREXEZITOLEVDERBLR
LFEY,

Oz 3 —DORBEXEMHSKRIE. BREEZIC
WD, MEDREZITHE>TLESLY,

ax a4
==

- BRER TR DV A —ORBEEEITHE SR
(&, BDTFBFEFEBEEICR-> TS,

- AV UDREL. BICEBZESBNARUVERK
KELEDBLALHY FT .

MNYTIDOIAF RAEEFERZEZRIN LTS,

-4 -

HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



2. 2a—INLRUTDXH

IN—Y Xk
No. e #H=
P1 RKBETa—INLKRYT 1
P2 oYy 1
(Fa—IILB D)

A ==
= A

FAEREZETHESRE. BREICHRWVREREZITE -
CEEHRELTLESLY,

- AVYUAREL. BITBBERSIEBNE L UERAK
REDBNAHYET,

AV UREREST SO MRERS LTHERETE -
TS,

MEBEGEEESBODSHF Y2707 T4y IRY
(ERDOERRIZE->TIE, 9—F7—RE—H—) W
HNLBMETa—TILRY T Assy ZESL L TLEELY,

-5- HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



QEBRBICEEBLGLAS/MHLHEVESIZLTOZDOA SR
LTSS,

BRAFTARSAN—FTMOS > YEHLTOZE
msL. DZOMSESNLTLESLY,

@B EFEmMMNLTLIEEL,

7 KA R
GO0 A aAL—RIZBEFERLEY,

G)YDEEHNL, @NDQ@NDT1—IILT 4L ZESL
TLIFEELY,

6) B) TR LI-QT7a1a—TIILI4ILE—FFY FAD
TJa—TI )R FIZRYFIFTLFE &L,
s Ja—I)LRUT (P1x1)
s Ja—TI)T4qI)LE (HEIE) 4. B) TEHNLI=O)

(N @TENLEG®, ®@FFy FRO T2 —IILKRY T~
RfFFTLCIEEELY,
-0y (#WIE) (4. 5) THSLTE=B)
Ao al—4 (FIE) (4 4) TESLE=®)

U A 78
-BDOO)ITDHT—EADT. WD) 1)—2
R—ILEENT VK SITEUTIFTLIEEELY,

8 @) THSLI=Oh 5,
BOKIZOZERM LTS,

HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



(9) (8) THAMLT=-DD AR % .
EO#RIZ, 1.6mm D FYILEREL, REFBLRL TS,

(10) D IZTMI L E=DZEQIZEfFIFTL FZELY,

(11) OMBIA4FRA R4 N—F&FEAL.
@DAN—ZERHLTLEEL,

(12) OIS IAFTRARESAN—Z%FEAL.
BERMIHILTLEELY,

(13) (12 THSML-BD B &%,
HOFIZ, 2.8mm D R ILZEREL, RETHBRL TS,

(14) 1) IZTMILE=BEHEDFIET
DIZEfFIFTLESLY,

(15) (M SFDFIETT2a—TIILR T Assy ZH#ILTHE
WMICEAMFIFTLESWL, COBTa—IILEr o E
Ja—TI )R> T Assy DO 5 IEFy FRADO Y
DTICERBLTLEEELY,

-0y (P2x1)

-7 -

HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



IN—Y YRk

No. 4 H=
P3 KBETJ21—INAUTTHB— 6
P4 0y (Fa—INArSH4—) 6
P5 TJa—INSAVTFHETH— 1
P6 TJa—INSA VT H T2 —Type2 1
P7 TJa—INS5A VT H T2 —Typeld 1
P8 —v7I 3
P9 =Ty — 3
P10 02y (Fa—INSAVTHETHE—) 2
P11 34 PaArbnA47 1
P12 PRFL R — 1
P13 R"—24 1) w7 (TS130) 6
P14 AV —+rFa—7 1
P15 @6 H=— 1
P16 "= v T ($6) 2
P17 p6aA b4 T 1
P18 v IARILE M6 L=30 2
P19 v IARILE M6 L=40 3
P20 Xy IJARILE M6 L=60 1
P21 7w —M6 6
P22 AT TT w3 %—N6 1
P23 2500w kN6 3

- 8 -

HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



I

==}
=]

A

FAEREZETHESRE. BREICHRWVREREZITE -
CEEHRELTLESLY,

- AVYUAREL. BITBBERSIEBNE L UERAK
REDBNAHYET,

AV URERET A MRER LTHERETE -
TS,

1) QDA TF—9=h—ILRkaLyi3— (Fvii—).
QDA vF—9T=F"—I)LRaLY4— (A7) £l
HLccrEEL,

2 ODOT7a—IIYTFa1a—T%QTJa—IILT4—FK
r—R,. @QF7a—INFa—T&YEHNT,

@) Za—INFa—TJZEAMALESNLTIESLY,

4 QTEHHNLEDIaAa—INFara—ThSMESA DT
DA—FERH L. ORBOA VPV B3 —~AKH]LTLES
Wo COE. AP B—LEDOY HIZ>yardy
REBHLTLEIL,

s Ja—I)A4roz Y3 — (P3Ix6)

7 KA R
R A T A —EEET HERIE.
WMEDSY)y JIXERALEE A,

B) HEODTa—TIILSAVTETE—,
@7a1a—IINSA2T7H T2 —Type2.
R@I7a—INSAVTETE2—Typed [Z@=vy )L,
O =Ty —FBFFTT U,

s Ja—IISA TR TA2—(P5x1)

s Ja—TIISAVTETH— Type2(P6x1)

s Ja—TIISA T ETHE— Typed(PT1x1)

=y JIL(P8x3)

=Ty —(PIx3)

RIS N-m (kgf - m)

T=50(5. 1)

-9 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



6) DT2—INSAVTFHETE— QT2 —INLFAVTF
F T8 —Type3 IFRNG0 ) T EBAFIFTLFEE L,

0T (Ta—TISA40T7ETE2—) (P10%2)

() Z2a—INNFa—ThoQ@QMETa—TIILE/IN—%

BHAL. DTa—INSA VT T2—EQ@Q%Ta—I)L

Fa—TI2. FBROORIL F@T v v —FFEHEFHHL T
<F2Ey,

- FvyTARILE M6 L=40 (P19x2)
-y — M6 (P21%x2)

A RLS N=m (kgf = m)
T=10(1.0)

B)B®Ta—TIISAUTHETE—Typel 2 EDGO®HRI +

DIy v—FFENTAa—TIFa—TITEMAFFTLEEL,
X v TR M6 L=30 (P18x2)
-y v— M6 (P21x2)

WL N=m (kgf = m)
T=10(1.0)

9) HANLTHTa—INFa—TZERBICEMFF TS
A

(10) B D A% HR— R Z2D300 mm, @200 mm, 3100 mm(<
AvbkL, 39z A40a4 b4 T, OFKR—RH Yy
ZE-oTHIITTLIEELY,

30 xA DaA kA4 TPIxT)
- EAR—X (P12x1)
- ik—R 4 1) w F(TS130) (P13 6)

-10 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



(11) AL THBEAR—X Assy ZEMICEFTIFTLZELY,
OB DI7a2a—ILSAUT7ETE—IZ@I00mEk—R %, |
Q@7a—TINLS54 7 H T2 —Typed 2300 nmk— R %
TNETNEUFIFTL SN,

(12) FRDANGT—rFa—JFBEZLREITHY ML,
B HR—X[CHEEDF TS,
- AT —+bFa—T (P14x1)

(13) 7 a—TIT 14— KFHE—XIZ@HRIL b,
@ITyvorv—, ®I750Fy FEFELY,
@I7a1a—TINSAVTE TR —Type2 #ZBFHFTL &L,

- Xy IRILE M6 L=40(P19x1)
-y vy —M6 (P21x1)
- 7500+ y FM6(P23%x1)

(14) (13) THILTE-DITa1a—ITIL T 14— Kik—X Assy IZ
@200 mAR—R EEFT, HEOINT—FFa—T%
BEGRSIZHAY L, HBEDIFTLESLY,

- AT —FFa—T(P14x1)

(15) 41 oF—o<2=hR—ILFkaLy8— (7 vii—).
AVT—IR=F—I)ILFaLy42— (A7) ZEAFIFTLESLY,

(16) @7 2a—T)LT 4 — RR—R Assy ZQ7RIL k.,
@RTNYTTyov— @Tvirv— ®IZVTF vt
EEVN, AT ZKR—LFaLyE—IC
RfFTESLY,

- F v THR)L b M6 L=60(P20x 1)
- RT) T Ty v —N6(P22% 1)
- 7w —M6 (P21 % 1)
=730y EN6(P23x1)

- 11 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



A7) FBODP6 R—AANRDFR—R I 1) v T,
@pb6aAy b TERMIFTLESL,

» 6 7R—X (P15x1)
I R—RO Yy T (p6) (P16x1)
P66 aA k4T P17x1)

(18) (A7) THILT=pb67~r—R %
DF vy _REA—/N—ar bO—JLnNLT e,
@INF a1 —LR—AANEFITTLESLY,

(19) BEICIELT, BHR—R, NFa1—LK—RZ%
HERD2A 5y TEHEAL, BELTLESL,

- B4 5y T (P24 %x5)
- B4 5w TINP25%x5)

-12 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



4. BHTROER
(1) MHEENELLEFFoNTLEINEEREL TS,

(2) MHEEICHENEBNEZHRL T, Ny TUZEERLTIESLY,

@) F—RAYFZENICLT HBHEEICREZN T RESHICAMOBNNENEEZHEL TS,
COEEEREBEYRL TS,

4) BHOFBNAABNEZHERLER, T UZRPBLTIESL,
FLERICEE, RhAENEZEHERAL TIEZELY,

(0) MHMDEFHENEHLYFIDT, BIRAD YT 2T ETH>TLESLY,

- 13 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



- 14 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



5®

k&t TyF-y—1IX
T418-0192 FERE L =ALIL7181
http://www.hks—power.co.jp/

- 15 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



FUEL UPGRADE KIT
INSTALLATION MANUAL

HK'S

Installation must be done by a professional.
Read this manual prior to the installation.
Always have access to this manual as well as a factory service manual.

2 Make sure the vehicle is applicable to this kit.

NAME OF PRODUCT FUEL UPGRADE KIT

PART NUMBER 14007-AN005

APPLICATION NISSAN FAIRLADY Z (UA-Z33 - CBA-Z33)
ENGINE VQ35DE

YEAR 2002/07 — 2007/01

REMARKS [NOTE]

¢ The following item is required in order to install this kit.
- Silicone grease

REVISION OF MANUAL

Rev. Number Date Manual Number Details

3-3.01 2016/02 E04280-N22010-00 15! Edition

Published in March, 2016 by HKS Co., Ltd. (Unauthorized reproduction is strictly prohibited.)



INDEX

NOT'CE/ ATTENT'ON/ SAFETY PRECAUT'ONS ..................................................................... 1
PARTS LlST ...................................................................................................................... 2
SPEC'FICATIONS .............................................................................................................. 3
1' BEFORE |NSTALLAT|ON ................................................................................................ 4
2_ |NSTALLAT|ON OF FUEL PUMP ...................................................................................... 5
3_ |NSTALLAT|ON OF |NJECTORS ....................................................................................... 8
2_ CONF'RMAT'ON AFTER |NSTALLAT|ON ......................................................................... 13
NOTICE

This manual assumes that you have and know how to use the tools and equipment necessary to safely
perform service operations on your vehicle. This manual assumes that you are familiar with typical
automotive systems and basic service and repair procedures. Do not attempt to carry out the operations
shown in this manual unless these assumptions are correct. Always have access to a factory repair manual.
To avoid injury, follow the safety precautions contained in the factory repair manual.

ATTENTION

This product was developed to improve engine output to a higher range, and for race use on a closed
course, where this kit is highly effective. When the engine output is improved, water temperature and oil
temperature will rise, and insufficient oil pressure will occur. Always maintain them for the optimal engine
performance.

This manual indicates items you need to pay attention to in order to install this product safely and lists
precautions to avoid any possible damage and/or accidents.

This product is an automobile part. Do not use for any other purposes.

HKS will not be responsible for any damage caused by incorrect installation and/or use, or use after
modification and/or dismantling of this product.

This product was designed based on installation onto a specific factory vehicle HKS product are installed.
The product performance is not guaranteed if this product is installed to an inapplicable vehicle.

The specifications of this product are subject to change without notice.

The instructions are subject to change without notice. Make sure you refer to the most recent
instructions.

‘SAFETY PRECAUTIONS

The following precautions for use of this product are to prevent possible accidents and/or injuries and for
proper use.

& WARNING: Indicates risk of serious injury and/or possible death.

CAUTION: Indicates risk of serious injury and/or possible property damage (i.e. vehicle
damage as from use of this product.).

-1- HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



PARTS LIST

NO. DESCRIPTION QT REMARKS
1 Large Capacity Fuel Pump 1
2 O-ring (Fuel Tank) 1
3 Large Capacity Fuel Injector 6
4 O-ring (Fuel Injector) 6
5 Fuel Line Adapter 1
6 Fuel Line Adapter Type 2 1
7 Fuel Line Adapter Type 3 1
8 Attachment 3
9 Sealing Washer 3
10 O-ring (Fuel Line Adapter) 2
11 3-way Joint Pipe 1
12 Fuel Hose 1
13 Hose Clip (TS130) 6
14 Corrugated Tube 1
15 6mm Hose 1
16 Hose Clip (6mm) 2
17 Joint Pipe (6mm) 1
18 Cap Bolt M6 L=30 2
19 Cap Bolt M6 L=40 3
20 Cap Bolt M6 L=60 1
21 Washer M6 6
22 Spring Washer M6 1
23 Flange Nut M6 3
24 Tie Wrap (M) 5
25 Tie Wrap (L) 5
26 Installation Manual 1

-2 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



SPECIFICATIONS

+ Large Capacity Fuel Pump

Type : In-tank (factory replacement)

Size : Maximum Diameter 38mm
: Length 111mm (Inlet to Outlet) / Maximum Length 114mm
: Suction Inlet O.D. 11mm / Discharge Outlet O.D. 9mm

1. Fuel Pressure to Amount of Flow
(The following numbers do not guarantee the actual amount of flow.)

Fuel Press. [kPa] 300 350 400 450 500
Amount of Flow | 12 [V] 215 195 180 165 145
[L/h] 14 V] 265 250 235 220 205

Large Capacity Fuel Injector

Type : Top Feed

Coil Resistance: High (Resistance Value: 14Q)
Injection Type : 2-Jet

Hole Number : 2 (Taper)

1. Fuel Pressure to Injection Quantity
(The following numbers do not guarantee the actual quantity.)

Fuel Press. [kPa] 250 300 350 400

Injection Quantity
730 800 860 920

[em/min]

2. Driving Voltage at Invalid Injection Time (It changes depending on fuel pressure setting.)

Voltage [V] 8 10 12 14 16 18

Invalid Injection Time
[u sec] (@ 350kPa) 4000 | 2500 | 1900 | 1500 | 1250 | 1100

-3 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



| 1. Before Installation
Use this instruction manual and the manufacturer’s service manual as a reference.

NOTE

OBefore the fuel pump and injectors are replaced,
measure the remaining fuel level on a flat surface. If the
fuel is full or over 7/8 of the tank, drain the fuel until it
marks lower than the level shown in diagram to prevent

fuel from leaking. E]}c.; F/
8 E
NOTE e
If fuel is full or over 7/8 of the tank, the fuel level will
become higher than the fuel pump’s installation surface; o
therefore, fuel may leak. E\

O Follow the factory service manual to eliminate the fuel
pressure before installing the injectors.

& WARNING

- Make sure to follow the factory service manual when
replacing the fuel pump and injectors.

- Make sure fuel does not leak in order to prevent fire
and damage to human eyes.

(1) Disconnect the negative cable from the battery terminal before installation.

-4 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



| 2. Replacement of Fuel Pump

Parts List

No. Description Qt.

Large Capacity

P1 Fuel Pump

O-ring
P2 1
(Fuel Tank)

/N WARNING

O Release the fuel pressure before installing the
injectors referring to the factory service manual.

O Make sure fuel does not leak in order to prevent fire
and damage to human eyes.

O Work on the vehicle in a well-ventilated area since
fuel may leak during installation.

(1) Remove(luggage floor finisher mask (or a woofer
speaker) in the rear side of the driver's seat, and
remove the factory fuel pump assembly.

-5- HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



(2) Remove @ from ). Make sure not to apply
excessive force on the wiring.

(3) Lift the tab using a screwdriver or similar tool, and
remove . Remove @ from .

(4) Remove ® and ®.

NOTE
 ®0-ring and ®insulator will be reused later.

(5) Remove @. Remove @ fuel filter from @®.

(6) Install @fuel filter removed in (5) to the provided Fuel
Pump using the following parts.

Fuel Pump (P1 x 1)
Factory Fuel Filter (® removed in 4.(5))

(7) Install ® and ® removed in (4) to the provided Fuel
Pump using the following parts.

Factory O-ring (& removed in 4.(5))
Factory Insulator (& removed in 4.(4))

NOTE
Make sure not to cover (0fuel relief hose with (D
O-ring’s collar. (See the diagram on the right.)

(8) Remove @) from @ removed in (2) as shown in the
diagram on the right.

-6 -

HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



(9) Enlarge the hole on A of (D removed in (8) using a
1.6mm drill as shown in the diagram on the right.

(10) Install @ modified in (9) to @.

(11) Remove the cover of @ from @ using a screwdriver.

(12) Remove @ from (D using a screwdriver.

(13) Enlarge the hole on B of @removed in (12) using a
2.8mm drill as shown in the diagram on the right.

(14) Reinstall @ modified in (13) in the opposite procedure
of removal.

(15) Assemble Fuel Pump in the opposite procedure from (7).
Install Fuel Pump to the vehicle. Make sure to replace
the O-ring between the fuel tank and Fuel Pump Assembly
with the provided O-ring.

= O-ring (P2 x 1)

-7- HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



3. Installation of Injectors

Parts List

P15

soo00 4 4 1 ;

P - e

o LA

oo, 17

Ne Description Qt.
P3 Large Capacity Fuel Injector 6
P4 O-ring (Fuel Injector) 6
P5 Fuel Line Adapter 1

P6 Fuel Line Adapter Type 2 1

P7 Fuel Line Adapter Type3 1

P8 Attachment 3
P9 Sealing Washer 3
P10 O-ring (Fuel Line Adapter) 2
P11 3-way Joint Pipe 1
P12 Fuel Hose 1
P13 Hose Clip (TS130) 6
P14 Corrugated Tube 1
P15 6mm Hose 1
P16 Hose Clip (6mm) 2
P17 Joint Pipe (6mm) 1
P18 Cap Bolt M6 L=30 2
P19 Cap Bolt M6 L=40 3
P20 Cap Bolt M6 L=60 1
P21 Washer M6 6
P22 Spring Washer M6 1
P23 Flange Nut M6 3

-8 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



/N WARNING

O Release the fuel pressure before installing the

injectors referring to the factory service manual.

O Make sure fuel does not leak in order to prevent fire

and damage to human eyes.

O Work on the vehicle in a well-ventilated area since

fuel may leak during installation.

(2) Remove (Dfuel sub-tube from @fuel feed hose and @

fuel tube.

(3) Remove the fuel tube from a vehicle.
(4) Remove the factory injectors from @ fuel

tube

removed in (3) and replace them with the provided
injectors (). Before installing the provided injectors,
apply silicone grease to the O-ring in the upper side of

the injector.

- Fuel Injector (P3 x 6)

NOTE

* The factory clips are not required to install the provided

injectors.

(5) Install the provided Attachment @ and Sealing Washer |
® to Fuel Line Adapter D, Fuel Line Adapter Type 2 @), |

and Fuel Line Adapter Type 3 .

+ Fuel Line Adapter (P5 x 1)

+ Fuel Line Adapter Type 2 (P6 x 1)
» Fuel Line Adapter Type 3 (P7 x 1)
+ Attachment (P8 x 3)

+ Sealing Washer (P9 x 3)

Tightening Torque N-m (kgf-m)  T=50(5.1)

-9 -

HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



(6) Install the provided O-ring @ to Fuel Line Adapter M
and Fuel Line Adapter Type 3 .

» O-ring (Fuel Line Adapter) (P10 x 2)

(7) Remove the factory fuel damper @ from the fuel tube.
Tighten Fuel Line Adapter (D and the fuel tube together
using the provided Bolts @ and Washer M6 @.

+ Cap Bolt M6 L=40 (P19 x 2)
- Washer M6 (P21 x 2)

Tightening Torque N-m (kgf-m)  T=10(1.0)

(8) Install Fuel Line Adapter Type 3 ® to the fuel tube using
the provided Bolts ® and Washers @.

Cap Bolt M6 L=30 (P18 x 2)
Washer M6 (P21 x 2)

Tightening Torque N-m (kgf-m)  T=10(1.0)

(9) Install the assembled fuel tube to a vehicle.
(10) Cut the provided Fuel Hose to (1D300mm, 2200mm,

and ®100mm. Assemble these three hoses using the
provided 3-way Joint Pipe @ and Hope Clip ®.

3-way Joint Pipe (P11x1)
Fuel Hose (P12x1)
Hose Clip (TS130)(P13x6)

-10 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



(11) Install the assembled fuel hose to a vehicle. Connect
a 100mm hose @ to Fuel Line Adapter @, and a
300mm hose® to Fuel Line Adapter Type 3 2.

(12) Cut the provided Corrugated Tube to an appropriate
length and wrap the fuel hose.

Corrugated Tube (P14 x 1)

(13) Install Fuel Line Adapter Type 2 @ to Fuel Feed Hose
@ using the provided Bolt 3, Washer @, and Flange
Nut ®.

Cap Bolt M6 L=40 (P19 x 1)
Washer M6 (P21 x 1)
Flange Nut M6 (P23 x 1)

(14) Install a 200mm hose @ to Fuel Feed Hose D
assembled in (13). Cut the provided Corrugated Tube
to an appropriate length and wrap the hose.

Corrugated Tube (P14 x 1)

(15) Reinstall the upper intake manifold collector and lower intake manifold collector.

(16) Install the assembled Fuel Feed Hose D to the intake
manifold collector using the provided Spring Washer
®), Washer @, and Flange Nut ®.

Cap Bolt M6 L=60 (P20 x 1)
Spring Washer M6 (P22 x 1)
Washer M6 (P21 x 1)
Flange Nut M6 (P23 x 1)

- 11 = HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



(17) Install the provided Hope Clip @ and Joint Pipe 6mm
® to 6mm Hose .

6mm Hose (P15 x 1)
Hose Clip (6mm) (P16 x 1)
Joint Pipe (6mm) (P17 x 1)

(18) Install Bmm Hose assembled in (17) to the canister
purge control valve @ and vacuum hose .

(19) Secure the fuel hose and vacuum hose using the
provided Tie Wraps as necessary.

Tie Wrap (M) (P24 x 5)
Tie Wrap (L) (P25x5)

-12 - HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



| 4. Confirmation After Installation

(1) Make sure all fuel routing is correct.

(2) Reconnect the battery.

(3) Turn on the ignition to build fuel pressure and to make sure fuel is not leaking. Repeat this step a few
times.

(4) If fuel is not leaking, start the engine. Stop the engine and make sure fuel is not leaking.

(5) Engine resetting is required since the fuel injector quantity has been changed.

- 13 = HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



- 14 —  HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



HK'S

HA2H TvF-r— IR
T418-0192 ##fEE =L =HL1L7181
http://www.hks—power.co.jp/

- 15 = HKS Fuel Upgrade Kit / NISSAN Fairlady Z (2002~2007)



	14007-AN005(E04280-N22010-00)取付説明書 Z33.pdf
	14007-AN005(E04280-N22010-00)英文取付説明書 Z33

